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Questions

A train covers 45% km distance in one hour. How much distance train will cover in 25 hours?

A car covers 20.525km distance in one liter petrol. How much distance this car will cover in
15 liters petrol?

Arshad's monthly expenditures are 7500. How much spends in 8 months?

In a groups of 15 people, 7 read French, 8 read English while 3 of them read none of these

two. How many of them read French and English both:

in a cricket match five batsmen A.B.C.D and E scored an average of 36 runs. D scored 5
more than E; E scored 8 fe2wer than A; B scored as many as D and E combined: B and C
scored 107 between them. Hew many runs did score?

An amount doubles itself in 5 years with simple interest. What is the rate of interest?

The percentage of 210 in 420 is?

Find the gain percentage if cost price is Rs 400 and selling price is Rs. 500

P and Q stared business with RS> 15000 and Rs. 10000 respectively. Find the share of P in
an annual profit Rs. 25000

The diagonals of a rhombus are 15 cm and 20cm. Find it area?
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1437.5km <br>
1537.5km
1637.5km
1137.km

. 307.875
407.875
507.875
607.875

RS.60000
Rs.70000
Rs.80000
Rs.90000
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45
28
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33
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20%
15%
25%
10%

8000
6000
10000
15000

A. 120sqcm <br>
B.
C

300Sgcm <br>
. 150sqcm <br>

D. 480sqcm <br>



